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  	 I hypothesized that families that enjoyed the Noodle Necklace activity improved the relationship between the child and parent. In other words, if the child/children enjoyed the Noodle Necklace activity, then it would improve the relationship with their family.
	The relationship improvement between the child and the parent increases 0.9987 units for every one unit increase in how much the family enjoyed the Noodle Necklace activity. Therefore, it appears that enjoyment and relationship of the activity are directly related. The finding is significant (p=0.91). The R2 statistic is 0.4713, meaning that this model explains 47 percent of the variation in the dependent variable (improvement of child’s relationship with parent). There is a relationship that can be detected between the improvement between the parent and child and the level of enjoyment of the activity.
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> Regressi<-1m(v18~v17,data=Parent)
> msumnary (Regress1)

Estimate Std. Error t value Pr(>|t])
(Intercept) -0.1561 1.4367 -0.109  0.914
vi7 0.9987 ©.1673  5.971 5.18e-07 ***

Residual standard error: 1.922 on 40 degrees of freedom

(2 observations deleted due to missingness)
Multiple R-squared: ©.4713,  Adjusted R-squared: 0.4581
F-statistic: 35.66 on 1 and 40 DF, p-value: 5.184e-07
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